IE=E ZEHR £#064E6 5268 (5K)
AR E (Y)1E-U15) 108,856 A4
+ ') H 35| H xt E 5l

g TEE | BAE| A% | BE | PE | RE | A | 5E | PiE | ZE
] RIGE 18780 2500 50 24 10[ 16280 70 28 1
SP% FRAE R 9500| 2340 35 17 2| 7160 78 38 10
g =RE 9250/ 1900 45 25 10[ 7350 50 25 8
SPA—* b 6310 2800 55 29 20| 3510 60 34 0
AR—F R JtiEE 6090 2250 65 32 10[ 3840 85 51 10
H—x—3> B A 5713 630 60 40 30 5083 78 47 10
H—RZ fILE 4950 1450 15 11 5 3500 31 19 5
NS KR AT 3155 1650 120 56 20| 1505 157 70 30
YR fit] LI 8 3000 590 70 40 30 2410 100 67 30
TE BBA 2570 60 200 130 60[ 2510 400 116 0
HB2Y) hRR 2515 30 600 516 450 2485 750 205 75
FILALBA)7  REFE 2490 280 100 78 65 2210 130 93 50
D7 RJA KB AT 2310 1110 40 18 10 1200 50 38 15
Thx B A 2220 10 400 400 400 2210, 1000 275 15




eS8 EfEB#H #EY™H (85%) 66 A 268 (%)
BATTHE (8- 8) 21,497 &
+ ') H 35| H xt E 5l
g A% | =iE ZE | A | BlE | PE | =B
HS AT #HY 39 250 150 320 300 190 80
NAERBR ¥ 95 800 100 215 800, 260 150
STEHE #Y 80 300 80 199 780 367 120
~ATS Y 24 20 20 176 170 115 40




IEZE ZERHR HEYH(E) #0646 H268 ()

BATTHE (8- 8) 21,497 &
+ ') H 35| H xt E 5l

g TEE | BAE| A% | BE | PE | RE | A | 5E | PiE | ZE
=F=FVo @ |ERE 3834 1834 100 21 1 2000 260 69 10
T—d—IF & EER 1273 280 40 21 10 993 120 35 0
DZ7EBRE)H EER 1148 456 30 19 5 692 135 56 25
RUAR H MILE 1084 284 80 55 40 800 80 42 40
=7 ' EER 840 400 40 19 1 440 50 36 20
R—F25h & ERE 720 240 30 15 10 480 60 37 20
tr=Fav B EER 720 240 70 28 20 480 80 39 20
HILET B SHE 720 480 40 8 1 240 60 43 30
NTZTEUN EER 640 360 30 21 5 280 40 35 20




